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Clive the cook uses three eggs to make an omelette.
How many omelettes can he make from a dozen eggs?

Gwen the gardener has bought 90 bulbs.
She wants to plant the same number in each of two flowerbeds.
How many bulbs should Gwen plant in each flowerbed?
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Counters come in boxes of 500.
Mrs Kaur, the Year 3 teacher, divides a box equally between 10 containers.
How many counters are in each container?

Gwen the gardener has picked 800 apples to sell at the local farmer’s market.
She packs the apples into 8 boxes.
If each box contains the same number of apples, how many apples are in each box?

Hannah loves clothes. She has 28 jumpers altogether.
If half the jumpers are now too small for her, how many can she still wear?

A class of 32 children are grouped equally into teams of 4.
How many teams are there?
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Abbie wants to buy a new sound system.
Over the past 10 months she has saved £700.
If Abbie saved the same amount of money each month, how much did she save each month?

David has three notes in his wallet.
All the notes are the same, and they total £15.
What notes does David have in his wallet?

Jade saves £2 each week to buy a new computer game costing £18.
How many weeks will it take to save enough money to buy the game?

Four children go to the cinema. The total cost is £24.
What is the cost for one child?




